2x% 4+ xy—3y* 4+ 5x 4 by + 25 A5E3M SHH(x + ay+b)(2x+cy+d)
oftt. o] W, a+ b+ c +d o] FZ Fotolet.
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2x% + xy — 3y 4+ 5x + 5y + 2
=2x%2+ (y+5)x—3y% + 5y + 2
=2x+(y+5)x-(y-2)3y+1)
= {(x— (y - 2)}2x + (3y + 1))
=(x-y+2)(2x+3y+1)
ca=-1,b=2,c=3,d=1
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x2—2x-y* +2y

= (x> =»*) - 2(x-y)
=(x+y-2)(x-y)

= (x+ay)(x-by+c)
Al4-E vl aotH
a=-1,b=-1,c=-2
La+b+c=-1-1-2=-4
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ol uff, p? +¢%+r?

[ = y3 + X%y — xy? + 2x%2 = 292 + x —)]
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By +xly-—x?+2x2 -2 +x—y

Y+ x4+ +xy(x—y) +2(x +y)(x—y) +(x-)

y)(x+y+1)°
-l,g=1,r=1
PP+ +rr=3

= (x—
=(x-yfE+y)?+2(x+y) +1)
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3 4 = (4 x 200 +ax+b) L WL AE ab
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S.ab =

=(x242)2-x2
= +x+2)(x2-x+2)

. a:—l,b:Q

-1%x2=-2




B7] F ab(b - a) + ac(c — a) + bc(2a — b - ¢) °]
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A

@ a-> © b+c © a-c
®6 @ © ® 9,©
@ ©,© ®a, 0.6

filo

B

ab(b - a) + ac(c —a) + bc(2a—b - c)

= ab? — a®b + ac® - a*c + 2abc — b*c — bc?
= —(b+c)a® + (b + 2bc + c?)a — be(b + ¢)
=—(b+c){a® - (b+c)a+ bc}
=—(b+c)(a=b)(a=c)
=(a=b)(b+c)(c-a)




